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QUESTION 1

Which of the following benefits does 5G bring to automated driving?

A. Removing single-vehicle intelligence and achieving intellegetn coordination.
B. Interactive perception and experience improvement.

C. Low latency. Reducing read uncertainty

D. Making up for the constraints on sensors due to distance and environment.

Correct Answer: ABCD

QUESTION 2

With control and user plane separation (CUPS) on the core network, the user can be moved closer to users to reduce
transmission delay.

A. True
B. False

Correct Answer: A

QUESTION 3

In the following terminal moving speeds are supported for 5G? -MC
A. 300 Km/h

B. 500 Km/h

C. 600 Km/h

D. 400 km/h

Correct Answer: ABD

QUESTION 4

Which of the following are advantages of accessing 5G at home?
A. rapid deployment and go to market

B. optical fiber-class rate

C. higher reliability than optical fiber
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D. flexible deployment

Correct Answer: ABD

QUESTION 5

In the 5G era, services will shioft from 2C to emerging vertical industries, including 2B2C, @B, 2H. ..TF
A. True

B. False

Correct Answer: A
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